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BEKA LS B ¢75m L=600 & 480 |mgts
RS B ¢ 90m L=600 % 680 |ps
BEHKE S BEE ¢ 110m L=600 & 800 |pe
RS BEE ¢ 150m L=600 % 1,160 |
BEHKAE LEE ¢75m & 730
Bk LEE ¢90m & 1,050
BEHKE S LEE ¢110m & 1,420 @
Bk LEE ¢ 150m & 1,750
Bk TFE ¢75m YTy b & 990 UrY 7> M)
BEEHK AL E TEE ¢90m FV4y b & 1,510 H%
B kAL THEE ¢5m B b & 1,510
SRk A+ % TEE ¢0m @YY k & 2,080 CRGEEEANE
BRI TEE ¢110m AR & 1,920 D%ﬂ
Bk TH% ¢150m AR & 2,510
B kAL +%3% ¢ 75m & 1,920
Bk +%3% ¢ 90m & 2,850
B kAL +3% ¢110m & 3,540 [ﬁ%]
Bk +%3% ¢ 150m & 4,720
B kAL BE ¢75m VUBRRE & 370 I
Bk $E 400m VUBRME & 540
Rk BEE ¢ 75m & 210 @%DE
Bk BEE 6 90m & 320
B2 ek PR KBS 75m & 10,500
B2 ek PR 2 v FKRY 75m & 1,650
X HE 7K R 2K B 3F & 9,600 | 47ke
1B AR 4 o 10,500 | 49ke o {{
X BE K 3R oK B H700%! (400%740%230) & 15, 300 65kg
DIEARY I R (BERG) 650%! (650 x 650 % 650) & 48,300 | (T-14/)305kg
HDiFERy o R (BEHG) 800%! (800 x 800 x 700) @ 65,400 | (T-14F)420kg
#iETOys 4005 % -
FiEJovs 600%! X 4,190 61kg




